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Carefully read the instructions given on Question Paper, OMR Sheet
and Answer Sheet.
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Question Paper is in Hindi and English language. Candidate can
choose to answer in any one of the language (i.e., either Hindi or
English)

39 AGYAAR & & Er § | HOT Uh F IR 9o AR Her &y A
dfe 9ot § |

There are TWO PARTS in this Module/Paper. PART ONE contains
FOUR questions and PART TWO contains FIVE questions.

U T “Ihfoush” YhR HT § fTHEG Feo 3h 40 § AT T A,
‘SAFTRF” THR & IR 575 FoI 3% 60 § |

PART ONE is Objective type and carries 40 Marks. PART TWO is
subjective type and carries 60 Marks.
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PART ONE is to be answered in the OMR ANSWER SHEET only,
supplied with the question paper, as per the instructions contained
therein. PART ONE is NOT to be answered in the answer book for
PART TWO.
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Maximum time allotted for PART ONE is ONE HOUR. Answer book
for PART TWO will be supplied at the table when the answer sheet
for PART ONE is returned. However, candidates who complete
PART ONE earlier than one hour, can collect the answer book for
PART TWO immediately after handing over the answer sheet for
PART ONE.
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Candidate cannot leave the examination hall/room without
signing on the attendance sheet or handing over his Answer
sheet to the invigilator. Failing in doing so, will amount to
disqualification of Candidate in this Module/Paper.
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After receiving the instruction to open the booklet and before
answering the questions, the candidate should ensure that the
Question booklet is complete in all respect.
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Note: In case of any discrepancy found in Hindi language, English version will be treated as final.
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DO NOT OPEN THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO.




PART ONE / Hkkx ,d
(Answer all the questi‘ons) 1 YalHkh iz’uksa
ds mUkj nsa'.

1. izR;sd iz’u ds mUkjksa ds dbZ
fodYi uhps fn, x, gSaA ,d Icls
mi;qDr fodYi pqusa vkSj mlis
fuEufyflkr funsZ’kksa ds vuqlkj
izu i= ds IkFk miyC/k djk, x,
AAvks,evkj*™* mUKj i=d esa ntZ
djsaA
Each question below gives a multiple choice of
answers. Choose the most appropriate one
and enter in the “OMR” answer sheet supplied

with the question paper, following instructions
therein. (1x10)

1.1 CofvdsT & U g9 & i @1 Iad faawor g2

A) C FFurser 3aecd sfecolR diEee HI JUIE Il
¢

B) C ®FUBeR gFASHIAN 3Sfecok HRFEC HI FUIC
T &

C) C HFUSeR d8eRI 3fecoR HIFCC HI FUIE AT
¢

D) C ®FIgeR 3HIH Sfecok diEce &l U HIdTl
¢

Which one is incorrect statement for C Language?
A) C compiler supports octal integer constant.
B) C compiler supports hexadecimal integer constant.
C) C compiler supports binary integer constant.
D) C compiler supports decimal integer constant.

1.2 AFAfaf@d ®1g 1 3m3eqe Far grem?
int main()

{

int x,y,z;

x='1'-'0"; /* line-1 */
y='a'-'b'; /* line-2 */
z=x+y;

printf("%d",z);
}
A) 0
B) ohdel Ield WSeI-1 & SIROT ITelcir
C) had IJeld asad-1 3R dMSA-2 & HROT IJelcr

D) shdel ITeld Sed-2 & SIROT el

What will be the output of the following code?
int main()

{

int x,y,z;

x='1'-'0"; /* line-1 */
y='a'-'b'; /* line-2 */
z=x+y;
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ROUGH WORK SPACE:

printf ("%d",z) ;
}
A) 0
B) Error because of incorrect line-1 only.
C) Error because of incorrect line-1 and line-2.
D) Error because of incorrect line-2 only.

1.3 *ptr++ THAARE o

A) ptr++ B) *ptr

C) ++ptr D) ++*ptr
*ptr++ is equivalent to

A) ptr++ B) *ptr

C) ++ptr D) ++*ptr

1.4 i@ & @ @i @ C A 3ugFd TR
FTE TRl & ?

A) 3ifer B) dcc

C) wfeaw D) extern
Which of the following is not a proper storage class
in‘C'?

A) auto B) dcc

C) static D) extern

1.5 AeAfaf@a & & fhgdr dgaieansit & &
AT sTer fohar ST dehar?

A) TEd B) fsfocw

C) 3Ty D) oled
Which of the following cannot be used as
identifiers?

A) spaces B) digits

C) underscores D) letters

1.6 Th “F glge qu” fAfRdd dk X fahael sR” “av
grem

A) 0 B) 3dH AT A

C) 1 D) gRadsa
How many times is a do while loop guaranteed to
loop?

A) O B) Infinitely

C) 1 D) Variable

1.7 YA3CEIER0T T T fohar STl g

A) g fuRa F==r & v F FF 3N F 90
¥ g Tgel FHedrha fohar

B) WA # UH WY & TR FAuiRa &&= &
fow

C) ug fauRa &= & for [F v vaawea Saa
Toh O 37T e AAA § 3T Hediched Ha
forar Sirar &

D) TEFAULNST I ST AT 9 § AT AL
Precedence is used
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1.8 Th YRIHA H I I & T Teqg & TEr

A)
B)
C)
D)

To determine which operator evaluated first from
left to right.

To determine the level of an operator in a program.
To determine how an expression involving more
than one operator is evaluated.

To check the expression is valid or not.

Herche Y gt Y

foleh, @S, #Is, HFUTSH Td THAFIC
H13, Frarsd, foih, TFdFYE Td o3
®I3, hESd, foih, ois Td vadiiarge
HEIS, HI3, folh, s vd TRiFgC

Identify the correct sequence of steps to run a
program

Link, Load, Code, Compile & Execute

Code, Compile, Link, Execute & Load

Code, Compile, Link, Load & Execute

Compile, Code, Link, Load & Execute

ﬁmﬁf@aaﬁgmmwm?
main ()

{
int x =0, y =0;
if(x > 0)
if(y > 0)
printf ("True") ;
else
printf ("False") ;
}
Solch ThleT
T
dTeld

“IITAM” Uolg THEAT & HRUT TToar

What will be the output of the following code?
main ()

{

int x =0, y =0;
if(x > 0)
if(y > 0)
printf ("True") ;
else
printf ("False") ;
}
Blank screen
True
False
Error because of dangling else problem
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1.10 ﬁmﬁf@amaﬁrmwmi)

main ()
{
int i=2,*j;
j=&i;
printf ("$d",i**jri+*5) ;
}
printf 3 31Y TFHULTA & FRUT HeFd WX

Ric 5w dog
16
10

What will be the output of the following code?
main ()
{
int i=2,*j;
j=&i;
printf ("sd" ,i**j*i+*j) ;
}
Syntax error due to Invalid expression in printf
Print junk value
16
10
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2- uhps fn, X, izR;sd fooj.k ;k rks IR;
;k VIR; gSA ,d Icls mi;qDr fodYi
pqusa VvkSj mls fuEufyf[kr
funsZ’kksa ds vugqglkj iz’u i= ds
IkFk miyC/k djk, x, “Avks,evkj**
mUkj i=d esa ntZ djsaA

(1x10)

2.1 & uigex INTSS "erw g ST oha

2.2 1.0 39 @Eee 3R Fellc HEEC P Th 3807
€

2.3 #define &1 AT THSIToleh HITcC I BHEBA et
& fav foar Srar §

2.4 const T& Higs § forger vaeT A[eifee Hiece
# IR A & forw fovar arar &

253 ITAAAA W AA H TH STAAAAS W &
T H el TER T AT &

2.6 T TigeX H R, S fhdl TgFa FI disc
FAT &, TeFR & SR W FHT &

2.7 T JATA & T T dEl AAN ARl WR
&

2.8 break #1as g ¥ TgFaX H AT g

2.9 fprintf BRI HT TANT Fh §H TUSS 3H3CYC
fSarsg W e & F&a §

210 S9 demA & AUiRa 3mer $r oree &, ar
foiag foree & a9 W & YINT Tl S 8T

3|Page
ROUGH WORK SPACE:

Each statement below is either TRUE or FALSE.
Choose the most appropriate one and enter
your choice in the “OMR” answer sheet
supplied with the question paper, following
instructions therein. (1x10)

2.1 Two pointer variables cannot be subtracted.

2.2 1.0 is an example of double constant and float
constant.

2.3 #define is used to define symbolic constant.

2.4 const is a keyword that is used to define symbolic
constant.

2.5 Two dimensional array is stored in memory
physically as one-dimensional array.

2.6 size of a pointer, which points to a structure,
depends on size of a structure.

2.7 All the members of a union share the same
memory location.

2.8 break keyword is mandatory in switch case
structure.

2.9 Using fprintf function, we can print on the standard
output device.

2.10 It is better to use array than a linked list, when

there is a fixed size list in a program.
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dkWye x esa fn, x, ‘kCnksa vkSj okD;ksa dk feyku dkWye Y esa
fn, x, fudVre lacaf/lkr vFkZ @ ‘kCnksa @ okD;ksa Is djsaA
muesa fn, x, vuqns’kksa dk ikyu djrs gq, vius fodYi iz’u i= ds
IkFk fn, x, AAvks,evkj** mUKkj i=d esa ntZ djsaA

Ya1x10"2
X Y
3.1 | ug Uk 3iTeX & S Uk T AT & 37 T 0T il & A. | strrev
3.2 | thoreret Y U TREAT bl Ry T B. |sfeesr
33 | Fivic dg 32767 FUF AT § C. |weie
34 | uifliar & 58 AYs A IETHCH T v3H U A S § D. goto
3.5 | Iz v e o1 e T BReeHT # E. | ssar srewst
3.6 | 2T 9K ST haer 0 31N THRIcHS a8 T & TR T FhdT & F. 3EES See
3.7 | gaft e wivee 30 g F g FaR [F S TiRT G. Typedef
3.8 | 7g s Has § S TeIA 3T T8T H dhfous A1 ¥ & fow H. | &
gAY fRaT ST &
3.9 | 45.2f F3eTEITR L | dfeer sfeee
3.10 | printf terereT & Rest 22T ¥ J. | AEAHTE
K | feag
L |owas e
M. |3z
4- uhps fn, X, izR;sd okD; esa uhps nh xbZ Iwph Is ,d ‘kCn ;k
okD; dks [kkyh LFkku esa yxk,aA Icls mi;qDr fodYi pqusa vkSj
mlis fuEufyf[lkr vuqns’kksa ds vuqlkj iz’'u i= ds |kFk fn, Xx,
AAvks,evkj** mUKj i=d esa viuk fodYi ntZ djsaA
Ya1x10"2
A. [HPIT B. | &ded e C. | veeRes
D. e E. math.h F. scanf( )
G. | foes faee H. | sfeom R
J. s K. w L. ctype.h
M. | sieie disex
4.1 ol &1 YT YIS GaRT JdTS IS dog dhl IIod el o folv fohar Sirar &
42  J9 U W OI¥g fRAr Srar g, 9uA ufade & W A F & A g fhar Sar §
43  M_PIT& &iEee § S 22/7 I &1 ufafaf®ca axar & I8 8 wisa H T forar Srar §
4.4 Bl stdin TEH & 3¢T I8 FIAT &
45 TR o ToR TSHIEs e 1 fShiee Reel esy g
46  do...while loop & Hf3A & I TAeer &7 MaTHhdr gl ¢
4|Page M3-R4-07-17
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47  TFR Aqéﬁqé’u F fow gd AT T TANT T AT

4.8 3eT Tea W fasured & eireT ser enfAd e 3R fBolic - & ggraar axar &

4.9 FA & AT Toliger aRTaer Tad: & 3R & ST &

410  9%e fEe 3R Hreled & T GIrel Y FEd &

3. Match words and phrases in column X with the closest related meaning/ word(s)/phrase(s) in
column Y. Enter your selection in the “OMR” answer sheet supplied with the question paper,
following instructions therein. (1x10)

X Y

3.1 It is an operator that calculates size of a structure variable A. strrev

3.2 Function that reverse a string B. integer

3.3 Constant value 32767L is an example of C. Float

3.4 Address of arguments is passed in this method of passing D. goto

3.5 It is an unconditional jump statement E. Double quotation

3.6 Data type that can store only 0 and positive numbers F. Unsigned integers

3.7 All the string constant must be covered between this symbol G. typedef

3.8 It is a keyword used to assign alternative name to existing data H. struct
type

3.9 Data type of 45.2f is . long integer

3.10 | Return type of printf function is J. sizeof

K. switch
L. pass by address
M. void
4. Each statement below has a blank space to fit one of the word(s) or phrase(s) in the list below.

Choose the most appropriate option, enter your choice in the “OMR” answer sheet supplied with

the question paper, following instructions therein. (1x10)
A. semicolon B. conditional operator asterisk
D. dot E. math.h F. scanf( )
G. Linked list H. integer . zero
J. void K. array L. ctype.h
M. constant pointer
4.1 symbol is used access the value pointed by a pointer.
4.2 When an array is declared, array name is defined as to first element.
4.3 M_PIl is a constant that represents 22/7 ratio. It is declared in header file.
4.4 function reads data from stdin stream.
4.5 Default return type of any user-defined function is
4.6 In do...while loop, symbol is required after condition.
4.7 We must use symbol to access structure members.
4.8 data structure facilitates to insert and delete data during the program execution.
4.9 Global variable is initialized to by default.
S5|Page M3-R4-07-17
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4,10 A pair of question mark and colon is known as
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Hkkx nks / PART TWO_
YsfdUgha pkj iz’uksa dk mUKj
nsa'z/(Answer any FOUR questions)

T SramA ford ST 10 gfeca &1 T W iR HXdr
€ 3R afe arar 2 A W A v TEar &t fBefie
ST 8. fBefie fohdr gu uferie &1 -1 & Rusie Y AR
3ifaw W e F. e A8 grr IR Y 3RT A
FargerRe # fawt 3R oS i siffer v sarear
.

W 3R UTEex T T 3STEI0T & ATY TASE HY.

c)

a) Write a program that accept an array of 10 integers
and a number to be deleted from the array if found.
Represent deleted element with -1 and display final
array. If not found print appropriate message.

b) Explain the role of linker and loader in compilation.

c) Explain the relation of array and pointer with
example.

(7+4+4)

6.

a) 1@ n, S8 n YoR GaRT UeX fohar &, ds &
T3 T HAIUN e HA & fAT veh Foll °E 3T
G

b) &I T IUIT EIT TN A & T U hererat
ford

c) Th hareel Tl St sfocer deg arel @get n fT W
AR Fr § AR T dega @ 3ea & g
TheFQleT S HET WHITH F Ficl Y

a) Draw a flow chart to print the factorials of numbers
from 1 to n where n is entered by user.

b) Write a function to display the multiplication table of
the number.

c) Write a function which accepts an array of size n
containing integer values and returns average of all
values. Call the function from main program.

(5+5+5)

7.

a) 1@ n ds Tl FeoEfd e fe = & e s
St o, I8 W, n IoR W AR B, v Feomfcd

'ca's"c%'ﬁic T o.w
Y97 AT & FHTA 8IdT ¢. 3aTe<0T & foIw, 145 = 11 +
4! + 5! =1+ 24+ 120 = 145.
7|Page
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Teh TeFoR 3EEH &7 sarear &Y fa# aF ser #ad
g sfecaR H  cm IR mm g
GRITA et aNTTed H TeX HXam g IR g I oo
o 373 & hieT 1 gt wed 31fe &

Write a program to print all the Krishnamurti
number from 1 to n. Here, n is user dependent. A
Krishnamurti number is a number whose sum of
factorial of individual digits equals the number. For
example, 145 = 11 + 41 + 51 = 1 + 24+ 120 = 145.
Define a structure Distance having two data
members: cm and mm in integer.
The program enters three variables and find which
distance is the largest among them.

(8+7)

U T FETHT T TN HIA §T, U HFIAC $ &7
H 37! QU 1T Uah HdFex W F TR $r T&ar 3K
Solard I TEIT FI IUTAT & Forw Uah HerereT ford.
oS foree ST TR h T F AT 872

fae argst TFaeFeffd OR T R YuTrell §aTt 3R C
H AFT HTIRTH I 3GTeX0T & a1 v &4,

Using a switch statement, write a function to count
the number of vowels and number of blanks in a
character array passed to it as an argument.

Which are the demerits of linked list data structure?
Explain working of bit-wise exclusive OR and shift
left operators in C with example.

(T+4+4)

Teh W H TG T3 TEIT IdT o9 & foIw v g
ford.

RepT T TR T IGTE0T & ATY SATET HY.
TT AlE 3R TSR Al ISl & o A< TdT0.

Write a program to find greatest number in an
array?

Explain the concept of recursion with example.
Explain the difference between Test mode and

Binary mode files.
(8+3+4)
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